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N = 0 &8 AF S & Al A
20108 = 2 3 LES|H ZHEAIDY ~ BHES AL
SN BHZAlD
M HHSAAH|(FH T AID)
el D=2 (&3
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
A Z Al 16,805,979 14,284,597 2,521,382
= 586,400 260,000 326,400
2 291,311 291,311 0
p 4,070 0 4,070
[= 2,792,508 1,611,048 1,181,460
= 13,131,690 12,122,238 1,009,452
HMSAHH (BN EZAIL) 33,589 33,805 A216
Jl=3al 29,599 29,815 A216
JI=2AH]| 29,599 29,815 A216
201 L2 AH| 17,599 17,815 A216
02 222%H| 1,944 2,160 A216
02222 % HMA 1,824 2,040 A216
0.2BRI(0AEZ) 1,824,000 1,824 2,040 A216
NEHM 245 259,737 226,142 33,595
2 21,311 21,311 0
[ 6,108 6,048 60
= 232,318 198,783 33,535
ANEBHEAE 254,937 221,342 33,595
2 21,311 21,311 0
[ 3,308 3,248 60
= 230,318 196,783 33,535
XNEHH &85 =& 57,010 43,535 13,475
203 R =ZAH 1,900 2,000 A 100
03 AM=XARFZIH| 1,900 2,000 A 100
OXEANESLSZ=R(0AHRZ) 1,900,000 1,900 2,000 A 100
301 Yt A2 3,825 4,250 A425
10 HAIAHI 2 A2 3,600 4,000 A 400
O22 X &H0HS =M AL A (0 AEZ)
17,3332 % 1500! 2,600 3,000 2400
12 JIEtE2 A2 225 250 A25
ORYEHIZX AAS(0AEZ) 45,0008 %501 225 250 A25
307 2I2t0| A 14,000 0 14,000
02 QIZHFAEX 14,000 0 14,000
Odllelr=elE(150) ESKA 14,000,000 14,000 0 14,000
HAGANMLE 1,880 1,760 120
[= 940 880 60
= 940 880 60
201 L2 HH| 1,880 1,760 120
[ 940 880 60
= 940 880 60
01 AtS2t2IHl 1,880 1,760 120
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SH-EH . C(BH) - NRAY - BES 0ff &+ o4 713 o bRz
OZAUZMILS 2A2 L DL
1,880,000 1,880 1,760 120
= 940 880 60
2 940 880 60
SHEIYOIS YR H T RUGSH BT T 170,000 150,000 20,000
401 AlZHIL 2O 170,000 150,000 20,000
01 Al 168,920 148,920 20,000
OS MO YIS YRHTHUCISH BB T4 (L
=120m,B=5m, 1436 ) 168,920,000 168,920 148,920 20,000
WX oHF o 32 M 1,988,110 1,683,368 304,742
= 260,000 260,000 0
= 710,000 710,000 0
2 1,018,110 713,368 304,742
WX Bl 2 2IrerE 1,887,910 1,583, 168 304,742
2 260,000 260,000 0
= 703,500 703,500 0
2 924,410 619,668 304,742
WX % Soteel 19,910 15, 168 4,742
101 124l 617 650 £33
04 JIZH22HSES 617 650 N33
OHZIIFINZA QIR (BIARZ) 617,002 617 650 N33
201 LByl 5,493 5,518 A5
2 ZZ2YH| 225 250 A5
OZZ22 % Al 225 250 A5
0.0 OHHS SHELE(HAEY)
225,0002! 225 250 A5
203 R =Y 1,900 2,000 A100
03 AIMEZRETY| 1,900 2,000 A100
ONUIRES @ Sot2| AMET(HAE)
1,900,000 1,900 2,000 A100
206 W2 5,000 0 5,000
01 T2l 5,000 0 5,000
OFAKCSTX LEIY 7Y 50,0002 +1007H 5,000 0 5,000
301 YLrBAS 6,900 7,000 A100
10 BAHAEI B4 S 900 1,000 £100
OOIAXI EO o SIHorE 2H Q& A (0 &t
2) 18,0002 *5091+15] 900 1,000 A100
22| SMOIS I AL 1,000,000 700,000 300,000
= 500,000 500,000 0
2 500,000 200,000 300,000
402 QIZHXHE 0| 1,000,000 700,000 300,000
< 500,000 500,000 0
2 500,000 200,000 300,000
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SN H - SR(EH) - NPAMY - BES 013 o 52
01 BIZFGEEXR 1,000,000 700,000 300,000
Oz &l sMltsSEdAtY 1,000, 000,000# 1,000,000 700,000 300,000
= 500,000 500,000 0
i 500,000 200,000 300,000
SANE2E 2 547,865 553,750 N5,885
= 270,000 270,000 0
< 10,000 10,000 0
i 267,865 273,750 AN5,885
SANE222F 547,865 553,750 A5,885
= 270,000 270,000 0
S 10,000 10,000 0
= 267,865 273,750 A5,885
HEANSRI2e 34,965 35,750 AT785
201 LEH2HH| 7,065 7,850 AT785
02 Z==23Hl 7,065 7,850 AT785
OZ232= € HAl 4,615 5,400 AT785
0.AIZSHEA MIIMBE(HAEZ)
84,583% 123 4,615 5,400 AT785
HSANEEdE 900 1,000 A 100
301 Ypt8asg 900 1,000 A 100
10 ALAHIE &= 900 1,000 A 100
OFSAE FIEEMASuS(MLEZ)
9,000& = 1009/ 900 1,000 A 100
SHHAE HIJIHEAIE EX ALY 45,000 50,000 25,000
401 Al YISO 45,000 50,000 5,000
01 Al&HI 45,000 50,000 25,000
O HAZHI DL AlE & XIAF (600 ) (Ol
) 45,000,000 45,000 50,000 /5,000
SR 2d3t ,191,090 192,015 999,075
= 500,000 0 500,000
= 691,090 192,015 499,075
SR NE2E ,191,090 192,015 999,075
= 500,000 0 500,000
= 691,090 192,015 499,075
SR 245 JIBAIE =LA , 169,500 170,000 999,500
S 500,000 0 500,000
= 669,500 170,000 499,500
401 Al&HI LS04I ,009,500 10,000 999,500
< 500,000 0 500,000
= 509,500 10,000 499,500
01 Al&H| 996,400 0 996,400
SSANE FGHE JIBAIE =AY (L8
2 XHMAIE 2L 996,400,000& 996,400 996,400
S 500,000 500,000
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X & Al 2t

M EXNRX 245
2 ENKX X2 G M
2N -3 - c2(3H) - NEME - HES A oH I & Hl =2
= 496,400 496,400
03 Al&=20HH] 3,600 3,600
O SEAS FGHE JIBAlE ZAALY
500,000, 0002 *x0.72/100 3,600 0 3,600
04 SHAFZERHAl&H] 9,500 10,000 A500
OY 2 £ EXNXLSE EFINHRALI (0
APE2H) 4,750,000 * 23 9,500 10,000 A500
EXNSIX 22y 21,590 22,015 425
201 LEr2YH| 9,270 9,395 A125
02 222ZH| 1,125 1,250 A125
02222 % HA 1,125 1,250 A125
0.5XRX S22 2= QEI(0AEZ)
1,125,000 1,125 1,250 A125
203 YR =ZAH 950 1,000 A50
03 AMHM=XADFZH| 950 1,000 A50
OENSXASF=A (0 A=) 950,000 950 1,000 A50
301 LB A2 2,250 2,500 A250
10 SHAIAHI 2 A2 2,250 2,500 A250
OENSXE AT FHF0 HASISAH(MIAER
) 43,7502 x40Q! 1,750 2,000 A250
o | & 2t 1,059, 124 1,035,330 23,794
] 4,070 0 4,070
= 1,055,054 1,035,330 19,724
AYE204 919,784 930,000 A 10,216
ALY 2 (X21R0IE)HE 229,928 230,000 AT2
401 Al&HI LY 229,928 230,000 AT2
03 A& 1,368 1,440 AT2
OLEXIZIIR0IE ASE 20 A I EHRHY] (o
APE2H) 1,368,000 1,368 1,440 AT2
MENAIROISALE2IHA 399,856 400,000 A144
401 Al&HI LY 399,856 400,000 A144
03 A& =2CHHI 2,736 2,880 A 144
OMZEHMITOISAUT ZIHE 2L (0 AFE 24
) 2,736,000 2,736 2,880 A144
CAHE X AL 2A 90,000 100,000 A10,000
207 o ROoH e 90,000 100,000 A10,000
01 A3 90,000 100,000 10,000
OZAMHEBXN LT 2HH| (0AHEZ)
90,000,000 90,000 100,000 210,000
NSEAHE HRFA 26,270 26,330 AB0
XNeHegeey 26,270 26,330 AB0
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301 YptBaag 540 600 A60
10 ALAHIE &= 540 600 A60

Oz el HEANLE2H 3 BA(MAEY)
9,000& 302! %23 540 600 260

Zn=ael 113,070 79,000 34,070

Il 4,070 0 4,070
i 109,000 79,000 30,000
Z2N=2229 113,070 79,000 34,070
Il 4,070 0 4,070
= 109,000 79,000 30,000
401 Al &HIL 204 113,070 79,000 34,070
Il 4,070 0 4,070
= 109,000 79,000 30,000
01 Al£HI 113,070 79,000 34,070
OXFEZ20E &X (44 6,000, 000& 44! 24,000 14,000 10,000
OXIBHAC X (54 20,000,000& =4 4! 80,000 60,000 20,000
OSgIdFZI=SEH 9,070,000& 9,070 5,000 4,070
Il 4,070 0 4,070
= 5,000 5,000 0
A 4,259,199 3,351,719 907,480
S 1,280,000 580,000 700,000
s 2,979,199 2,771,719 207,480
£HItss TADIBEHA 4,122,199 3,211,719 910,480
< 1,200,000 500,000 700,000
= 2,922,199 2,711,719 210,480
AMXAHESE FHl 66,500 70,000 23,500
401 Al&HI LSO 66,500 70,000 A 3,500
01 Al&HI 66,500 70,000 A3,500
O=+=HZE3& _‘?'__‘.:_X*til(L=150 =M &8l L=100M
P2 SEXI3MNA) (o 46,500,000 46,500 50,000 A3,500
NAEEZHE 1,865,511 1,666, 149 199, 362
401 Al EHIL 201 1,865,511 1,666, 149 199,362
01 Al£HI 1,853,391 1,653,391 200,000
OUMEEZANHEECZ2(3-19&8 6 =S8 W )HEL
=100M B=6M 300,000, 000& 300,000 200,000 100,000
Od=z HEXFAMLHEEZZ L=80M B=6M
222,000,000& 222,000 122,000 100,000
03 Al R04Hl 12,120 12,758 A638
OZgEZZ (04 6,482,000 6,482 7,120 A638
SAIHEANERRE > 123,500 130,000 26,500
401 A EHIL 204 123,500 130,000 6,500
01 Al£Hl 123,500 130,000 26,500
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R T AN
Sl Xmobse TADIBES SREL
SN-EHH . SH(BH) - HPAY - BE2 Ao )= e =2
OB SH(AF AIE, S, 2 A, A0 (0
A2 36,500, 0002 36,500 40,000 3,500
OAIIX E2RXEB4(EHSH) (KAL)
37,000,0002 37,000 40,000 23,000
0188 S AN E Al E R b 197,500 200,000 A2,500
401 Al&HIL 20| 197,500 200,000 A2,500
01 Al&H] 197,500 200,000 A2,500
OFI 0ITE TAHHAL Fl(HAE)
197,500,000 197,500 200,000 A2,500
CANLYRET 24,188 25,570 A1,382
101 o124t 3,762 3,960 ~198
04 JIAH2E2HSE L4 3,762 3,960 A198
OSAHEHTAL AIDIXIFYI Q2 (0l A=)
3,762,0002 3,762 3,960 A 198
201 Yer2 Yyl 14,306 15,490 A1, 184
02 IT2Y| 10,656 1,840 A1, 184
OZBZ22 ¢ MAZL3 10,656 1,840 A1, 184
0.30IS 22 HII2(IAR)
193,0002 x122 2,316 3,000 684
0.4 AUBH ZUHBH FIIZ(KARY)
208,333 « 122 2,500 3,000 A500
AEICE SANHEE HEBA 700,000 0 700,000
= 700,000 0 700,000
401 Al&HIL 20| 700,000 0 700,000
= 700,000 0 700,000
01 Al&H] 700,000 0 700,000
O AEICH TAHHCR HATAH(LRE)-TY
=EIEINE! 700,000,0002 700,000 0 700,000
= 700,000 0 700,000
ST AICIXtOIZI A E 25,000 0 25,000
401 Al&HIL 20| 25,000 0 25,000
01 Al&H] 25,000 0 25,000
O BT AICIXIE 24 25,000, 0002 25,000 0 25,000
SADIBES £ 137,000 140,000 3,000
= 80,000 80,000 0
2 57,000 60,000 A3,000
FHaAX P ALSRURS 57,000 60,000 A3,000
401 Al&HIL 20| 57,000 60,000 3,000
01 Al&t] 57,000 60,000 23,000
OFHXP HHT2 SN2 (3HE) (AR
) 9,000, 0002 *30} & 27,000 30,000 3,000
ZJoY U ENHEAMM 1,360,005 981,918 378,177




SN BHEAID
BE: FHOE o FABYNM

el SOHE F=HEZ N

SA-E . S(E) - MEAY - BES Abod o1& o =
= 326,400 0 326,400
= 286,400 305,000 A 18,600
i 747,295 676,918 70,377
SHE F=HEEHH ,360,095 981,918 378,177
= 326,400 0 326,400
& 286,400 305,000 A 18,600
= 747,295 676,918 70,377
HI MO A=HE MHIAMS 171,095 171,918 A 823
101 el H] 815 858 AN43
04 JI2tHIZ2E2NHEE S 815 858 A43
OXtslnte32d sXZel=2d(uaaz)
551,000& 551 594 A43
201 Let2d| 5,160 5,940 AT780
02 3523l 1,020 1,800 AT80
Oz332= & HAl 1,020 1,800 AT780
0.Xtsl & AIEDIS &IIQ2(HaE2Y 2 Xt
HEZ) 85,000& 123 1,020 1,800 AT80
BIEEHIAY 91,000 110,000 219,000
= 36,400 55,000 A 18,600
i 54,600 55,000 A 400
402 I X201 91,000 110,000 A 19,000
= 36,400 55,000 A 18,600
= 54,600 55,000 2400
01 It EEX 91,000 110,000 219,000
ORI FHIAIS (SL0IEXE)
2,000,000& * 3b= 70,000 60,000 10,000
= 28,000 30,000 2,000
i 42,000 30,000 12,000
OBIEHHIAIS (JIEFRIS)  1,000,0008 * 215 21,000 50,000 A29,000
L= 8,400 25,000 216,600
i 12,600 25,000 A 12,400
HEFHEEHLOHIERX 190,000 200,000 A 10,000
401 A EHIL 204 190,000 200,000 A 10,000
01 Al&HI 188,632 198,560 9,928
OF S8 JIBAIE AL (Ol AHE 2}
188,632,000& 188,632 198,560 A9,928
03 Al =04l 1,368 1,440 NT2
OXJAFEUI|BLAIL ALY SOl (ol&HE2)
1,368,000& 1,368 1,440 AT2
MEIFHAAHE FEIHE=AS 408,000 0 408,000
= 326,400 0 326,400
= 81,600 0 81,600
403 XX HSA201H 408,000 0 408,000
= 326,400 0 326,400
= 81,600 0 81,600
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L AMEAID
DENOE L EAHBANM
L s0lE FHERNA

N EH - S2A(3H) - MRAE - BES Off &F OH I8N BlusZ
02 SJ1&s0ltist 408,000 0 408,000
O At2IHAAS &
408,000,000& 408,000 0 408,000
= 326,400 0 326,400
= 81,600 0 81,600
S(ZHMZAID) 6,107,170 6,226,550 119,380
Hell X & 6,104,070 6,223,450 A 119,380
SHAXZEASZHE 91,570 63,450 28,120
701 JIEIRI AN E= 91,570 63,450 28,120
01 JItsl AN ES 91,570 63,450 28,120
Os3HNEEEE3 A 91,570,000& 91,570 63,450 28,120
LAY SE3H 5,612,500 5,760,000 A147,500
701 JIEIRI AN ES 5,612,500 5,760,000 A 147,500
01 JIEt2I HEE= 5,612,500 5,760,000 A147,500
OZGMLAS HE (G2 X AEA
) 5,612,500, 000& 5,612,500 5,760,000 A147,500




